SHORT ANSWER QUEST TONS

1. Prove that, “*Accounting Equation holds good under all circumstances,”” Give
atleast two illustrations.

2. Give two basic purposes of accounting equation.
ﬁms. () Since accounting equation is always equal it ensures the accuracy in
recording of business transaction.
(i7) It helps in preparation of Balance Sheet.]

3. Describe the fundamental accounting equation. How are revenue and expenses
related to it?

4. Which of the following equations are correct ?
I. Assets = Caplta] + Liabilities
II. Assets = Capxtal = anbﬂmes
L A * Ry ey
IV. Capital
V. Capital
VL. Liabilities
VIL. Liabilities
VIIL. Liabilities =
Ans. 1,1V, VIII,

5. The position of a businessman on.
75,000; Debtors Z20,000; Machiner
75,000, Calculate his liabilities,

Ans. 235,000, -
Hint, Liabilities = Assets — Capital
6. What cntry (debit or credit) _'

1l

mtroduccd by the owner, P
Ans.  (a) Increase in Revenue : -j' f Wf
(h) Decrease in Expense x¢
(¢) Drawings
(d) Fresh Capital L
7. If a transaction has the effect of ds
a debit or as a credit? If the fransa
the decrease recorded as a debit

’
“
(4
i
.
‘

8. Which transactions will ; :
. Decrease the Assets and D

II. Increase the Assets and

11, Increase the Assets and

Ans. (I) Drawmgs or ExpenseS'
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9. What will
1l Purchas:g the effect of the following on the
goods for 20,000 from Mahesh on Credi

2. Sol
i d goods to Suresh costing 8,000 for 210,000 in
aid Wages ¥500.
4,
5 Withdrew in cash for private use ¥2, 000
; . Paid to creditors ¥5,000. |
Ans, 1.+ ; + Cash — 5t
. + Stock + Creditors j _Cash— Capital

3. — Cash - Capital
5. — Cash — Creditors]

; Equation i

) cash.
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ock + Capital
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VERY SHORT ANS i
(Questions Car mg 1 Mark) SNy

— o=

1. What is an accounting equation?
Ans. An accounting equation s a forit

of a business aré always eque

2. Give fundamental accounting equati
Ans. Assets = Liabilities * Capital "

3. If the Capital of a business is <3 00,
calculate total assets of the busmes

Ans. Total Assets 7,00,000.
S are ? ‘

’ 4. If total assets of a busmes

creditors.
Ans. Creditors %6,00,000

RS
e T i e

5, ‘X commenced business on Ist April,
e WOl‘thk L

March, 2014 his assets wer
his closing capital and profits €

Ans. Closing Capital ?7,50,()00 Prc
Y. ] i
6. What is Debit? |
Ans. When an amount is entered‘ h
the account is said to be debited.

7 What is Credit?
Ans. When an amount is entered
and the account 1S said to be Cri

(%

8. Why are the rules of deb an
Ans. Because according to bu o
of the business. :

9. Name the side on which 1 cr
Ans. Credit side. g

Scanned by CamScanner



